SRR 27 AR E CO2 48 Hil B =

HREHDEE(N) | LORHEIBKRE () CO2HIEE () LORHIBEE (t)

4R 890,637 1,068,764 44776 9.619
54 940,627 1,128,752 47.289 10.159
6 A 897,240 1,076,688 45.108 9.690
78 909,700 1,091,640 45.734 9.825
8H 942,657 1,131,188 47.391 10.181
9A 920,878 1,105,054 46.296 9.945
10HR 948,086 1,137,703 47.664 10.239
1148 896,281 1,075,537 45.060 9.680
12R 1,001,861 1,202,233 50.368 10.820
1R 904,142 1,084,970 45.455 9.765
2R 884,893 1,061,872 44.487 9.557
3H 939,445 1,127,334 47.230 10.146

&t 11,076,447 13,291,736 556.857 119.626

X LORHIBME = HEERODAE x 12 (LUREF1ANY 128 Li0E)
¥ CO2 HIEE = LURHIEME x 41.895 /1000000 (LIR1ML-YDCO28IFE% 41.895¢ LHaE)
X LURHIBEE = LURHEIEMKE x 9 /1000000 CRIMYE-YDEES 9g L H)




